Prerequisite Math Practice Test for Radiography:A
| Basic Operations on Integers: £ellows 0cdec of Upecations: P 4

DS
1. FEvaluate: 2 4—a+3= Z(‘L) +3 .
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2. Evaluate: @)+(15+@))= -6+ (15 + (_,Q)

T -6+ (-l)
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3. Evaluate: 4 —(6 + 2} _3+S_H©f5

4. Evaluate: (12 — —}))2 +5—-2= Lo

3
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Ratios:

5. A pattern has 3 blue triangles to every 18 yellow triangles. What is the ratio of yellow triangles to blue triangles?

\/el[ew ;E\UQ' lé:—:'? = "’:‘?i =

6. Abag contains 9 red marbles and 7 blue marbles. What is the ratio of red marbles to the total marbles?

red o EoZteal

7. Apattern has 5 blue triangles to every 20 yellow triangles. What is the ratio of yellow triangles tgﬂltrﬂglﬁ?
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Convert Between Fractions (Ratios), Decimals and Percents:
8. Wnte as a decimal and)%\t
/ 3 = BOZL._

9. Write 355 as a decimal and a fraction
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10. Write-1.25 as a percent and a fraction
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‘ Comcpsanng Fra1c6t|ons and Decimals: use <, > or = to compare each of the following C roSd Mulbp\y

11. —4- T te compore

'5 6 30,150
12.; =
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13.0.012 £ 0.12
14. 1.201 > 1.015
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Calculations with Percents: ’ —‘\
15. What |525%of607 . :25(60) = ,6 /

f’\ulﬁ! p)/
16. 45 is what percent of 130? \L/g,\ e 4500 = 130X
34 (2% -

?
17. A 40% increase of 30 is how much? oy (30> -2

Fm of 30
Lhen odd Zhis 2o 30 26+ = (Y2

18. A decrease from 70 to 36 is what percent?

Decrease amovat. Z0-3¢ = 34

DQCQRSQ 2/_' 3‘-"5 ld)\at%’a‘ﬁ 70 g\:/o/yo 3_%?57_7/'6;2—(
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Conversions:
19. Convert 3.5 feet to lnches

"’/‘-."1 :IL‘[_—_ 5'5(‘2) @

20. Convert 4 inches to centimeters

21. Convert 27 centimeters to millimeters

2%ceon (22
lcor:y0mm \\7@

22. Convert 62 millimeters to inches

23. Convert 1.38 liters to kiloliters

IKL=1as0L  le3gL = .oonswz_
24. Convert 1.5 gallons to cups l_/
1.59al { ¢t l UPS_L (Cug)
r'J"l/ \ ",t, \___)

25. Convert 70°F to Celsius

£ (5-3) C%@«»n) (217

26. Convert 22°C to Fahrenheit 3 —
P9, ., Froa(eDrsz {3607
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Solving Proportions Word Problems:

27. If there is $15 in a drawer and the ratio of money in the drawer to money in the piggy bank is 3:5, then how
much money is in the piggy bank?

drawec _ 2 _ 14 3x=75 ) ,7 \
St - 3 3 (X 5
28. You have 10 apples and the ratio of apples to oranges is 5:2, so how many oranges do you have?
C_‘p{ﬁkﬁ - E - IO DX e ; o)
O(tayes 4 X “:c:' S

(% =4 oranges ™
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29. Knowing there are 2.2 pounds in one kilogram, how many kilograms does a person weigh if they are 165
pounds? PeundS 2.2

|65 Z2.2X=]6S
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30. Knowing there are 2.2 pounds in 0

ne kilogram, how many pounds does a person weigh if they are 62 kilograms?
anu:)ﬁ - 2.2 " X X = 136.9 Pduno’j
K9 / @2

31. Knowing there are 60 drops in a teaspoon, how many teaspoons are 105 drops?
dreps _ o _ 105 EOx =105
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Reading a ruler: give the measurements indicated by the pointer
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32.
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33.
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34.

cm: IQ-‘S mm: ’QS

em: 161 mm: [(,f
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Reading a Protractor:

nel 8090 100
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36.
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37.

Parallel and Perpendicular Lines:
Name the following pairs of lines as parallel, perpendicular, or intersecting lines
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40. i

=D intecSect at a Cl\jht ﬁ‘y’ﬁ

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Solving: find the value of x that makes the equation true

41. x+6=10
-6 -6

42. =S5 +x =12
ot T 5 Y.
(X =1 7>

~x =zl =
=5 Q-2
26. 6x +2 = 14
2 i
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47. 4(x~5) =2
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